
Element realization types 
 

Sentence elements can be realized by linguistic structures of very different 

form. The verb element is always a verb phrase. This may, as in all the 

examples used so far, be ‘finite’ (showing tense, mood, aspect, and voice) 

or ‘non-finite’ (not showing tense or mood but still capable of indicating 

aspect and voice). Consider the three types of non-finite verb phrase 

functioning as the V element in the italicized non-finite clauses':   

 
 Mary wanted [to be (V) a student (Cs) at that university (A)] (Od). 

 [Carefully (A) searching (V) the room (Oj)] (A), John found a ring. 

 [Made (V) the chairman (Co) every year (A)] (A), he was very busy 
 

Whether finite or non-finite, the verb phrase can consist of one word, as or 

of more than one word, in which case the phrase consists of a ‘head verb’ 

preceded by one or more ‘auxiliary verbs’ as with the verb phrases in the 

following: (the first three are finite, the fourth non-finite): 
He had given the girl an apple.  

He may he growing happier.  

He had been challenged rudely, and having been challenged he was angry.  

 

The subject of a sentence may be a ‘clause’ as in 
That she answered the question correctly pleased him.  

 

But it is usually a ‘noun phrase’, at its simplest a pronoun such as They or 

a proper noun such as John. But a noun phrase may be an indeterminately 

long and complex structure having a noun as head, preceded by other words 

such as an article, an adjective, or another noun, and followed by a 

prepositional phrase or by a relative clause; it is by no means uncommon 

to find all such items present in a noun phrase: 
The new gas stove in the kitchen which I bought last month has a very efficient 

oven.  

 

Subject complements, direct objects, and object complements may be 

realized by the same range of structures as subjects:  
  He was the chairman. 

  She saw the chairman.  

 They made him the chairman. 

  

But subject and object complements have the additional possibility of 

being realized by adjective phrases (having an adjective as head), as in: 
She made him happy/very much happier.  

 

 



Indirect objects, on the other hand, have fewer possibilities than subjects, 

and their realizations are chiefly noun phrases, as in:  
He had given the girl an apple. 

Unlike direct objects and subjects, they cannot be realized by that 

clauses.  

 

Finally, adverbials can be realized (a) by adverb phrases, having an adverb 

as head; (b) by noun phrases; (c) by prepositional phrases —that is, 

structures consisting of a noun phrase dominated by a preposition; and (d) 

by clauses, finite or non-finite: 
(a) John very carefully searched the room. 

(b) They make him the chairman every year. 

(c) She studied at a large university. 

(d) He grew happier when his friend arrived. 

Seeing the large crowd, John stopped his car. 

 



 
 

 


